Home work # 1

Solutions to Homework No. 1 (Chapter 1)
Review Questions
2. Aristotle believed that forces are necessary to keep moving objects moving.
8. The property by which objects resist changes in motion in called inertia
6. Weight depends on location, mass does not.
Exercises
2. The inertia of the space probe keeps the space probe moving after the rocket no longer pushes it.
 

4. In his fabled Leaning Tower of Pisa experiment Galileo discredited Aristotle's idea that heavy objects fall faster than lighter ones; while with his  inclined plane experiments he discredited Aristotle's idea that a force was needed to keep an object moving in a steady uniform motion.
 

6. Your mass must be expressed in kilograms (let’s say 70 kg), then your weight would be: 70 kg x 9.8 (N/kg) = 686 N (your weight must be expressed in Newtons)
